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1)

Write in the same way as in example a).

a) 996.8 m = 996 m 8 dm = 9968 dm b) m = 88 m 8 dm = dm
c) km = 41 km 280 m = m d) dm = 1 dm 8 cm = cm
e) cm = 1 cm 5 mm = mm f) m = m dm = 5687 dm
g) dm = dm cm = 43 cm h) km = km m = 70430 m
i) 6.5 cm = cm mm = mm j) km = 78 km 730 m = m

2)

Write in the same way as in example a).

a) 828.15 kg = 828 kg 150 g = 828150 g b) kg = 441 kg 360 g = g
c) 737.76 kg = kg g = g d) t = 26 t 660 kg = kg

e) t = t kg = 78770 kg f) t = t kg = 4090 kg
g) t = 51 t 700 kg = kg h) 86.34 t = t kg = kg
i) kg = 810 kg 190 g = g j) t = t kg = 55060 kg

3)

Write in the same way as in example a).

a) 43.02 Euro = 43 Euro 2 Cent = 4302 Cent
b) Euro = 46 Euro 39 Cent = Cent
c) Euro = Euro Cent = 9162 Cent
d) Euro = 90 Euro 20 Cent = Cent
e) 68.23 Euro = Euro Cent = Cent
f) Euro = 11 Euro 66 Cent = Cent
g) Euro = 96 Euro 6 Cent = Cent
h) 34.1 Euro = Euro Cent = Cent
i) Euro = 18 Euro 98 Cent = Cent
j) Euro = 78 Euro 38 Cent = Cent
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4)

Write in the same way as in example a).

a) 74.03 m2 = 74 m2 3 dm2 = 7403 dm2

b) dm2 = dm2 cm2 = 9526 cm2 c) ha = 66 ha 80 a = a
d) 21.42 m2 = m2 dm2 = dm2 e) a = 37 a 4 m2 = m2

f) a = 38 a 94 m2 = m2 g) ha = 35 ha 42 a = a
h) a = 98 a 46 m2 = m2 i) ha = ha a = 185 a
j) 23.53 m2 = m2 dm2 = dm2

Good Luck!
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